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13141211 |U4Yny — Qkp Mtppnuw phuin ~kphqlikp Ns0 q< wntth 5500 20 ng | |
3141211 | 2lpuinguyht huyhyh Q< hww 110 1500 165
3141211 | Unwipluywlul wogulh 25,4x76,2 < hwn g 2000 8] [ |
[
S e ol N S R
3141211 |Uubin 216G < huwin 5 (1R 40
3141178 | Pnfulibpwpljiwy (hu$nighnt) hwdwlwng < huwn 50 12000 600
1141115 | Punipuily < bg 2000 20 | 240, |
1141133 |Phlwn 7x14 ng uunbippy pwpbpwdnpyws < hwwn 90 800 | 162
3141133 [Phuwn 7x14 unbinh) thwpbpwynpyws < hwwn 100 800 180
141133 |PhUn ghujuwghiy 2,5x20 < | hwwn 350 i 140
141114 |@ugh$ pdylulyuy < | dtanp 80 0001 60
141211 | E49 1124100x300 ¥< | hwa 1500 i 3001 |
141211 |[dninp EYS 60x30 < hwwn 400 i 80
‘ < | hun 450 o o
141211 |fdnuye E4S 50550
141211 |owslwwwlih 22x22 < hwtn 5 4400 20
141211 [Owdlpmwwlyh 22x48 < hwtn 10 1500 15
21180 |Unjwit Guadwiu swiphs uwpp A< hwwn 3200 ]O____ 32
41136 |Ywntunp $njhp 14Fr < hwn 180_ﬁ|__ﬁ_2~0_0_ | 3 |
41136 |Hwuntinp Gpwluwihu 206 < huwn 50 2300
41136 |Ywnbunp bpwlwh 226 < | hun 50 £2(0
41136 | Yunbinp bpuwiljuwiht 246 < | hwn 55 2500
41136 |“winbnp bpwlwihl 186 < hwn 50 150
41136 |“wwnbinp Epwlught 166 Q< hwin 85 100 |
11136 [Mwwnbinp Gpwljwiht 146 a< hwuwn 100 30 3 _)
4-1-511—%&3115;111;]1 197.2 (Yswwyhl dhpuluy) | Q< Chwn | 5 | B I 7% [T
11158 |dbinungutip pdolwiljwl ng unbippg < qhyg 26 7500 | 195
1156 |Qnbinglibp pdalwluiti uintiphy < | hu 100 | 3000 300
1173 Ubigpunniupg winly < hwn 100 200 50 |
gyg__’bquqwumnwl qnun s hwtn 80 1_01_ . _8______
15000
1342 | Utipwplhs 10,0 Gnwyndwnubun 21-236 wubinny e huuu_l—_L_ P _________375




—

15000
33141142 ULbpwplhs 2,0 Enwyndwnubun 21-236 wutinny * ol 5 225
6000
33141142 Lbipwplhs 20,0 Gnwlyndwnubun 21-23G wubnny s huin 0 240
13000 :
33141142 Lbipwplhs 5,0 tinwlnduwnubun 21-236 wutinny e i 2 i
23141142 | Ubipwnihy huny. 1,0 100dhwynp 27 6 wutinny < huwn 13 1000 13
33141142 | Lbpuwplhs 604 < hwn 100 500 50
33141157 [Upunwiph dugp 9< huwwn 20 00 k| 1
33161220 | Buwjwinbi thwyinbs A< huin 6 3000 | g
33141211 | Nhuytunlw MO < huin 120 200 24
33141211 |Qbpduwisuiih < hwtn 260 I 78
33141211 | (Hatunga bipluslyhs G-230 < | huwn 9000 i g
$3141211 | Mauwnghll dwwywybt 13x18/100 RS hwwn 10000 6 6&__j
13141211 |NHbungbt dwwwby 18x24/100 Mquiliwy/ H< hwwn 12000 24 288
3141211 | MHhuing bl dwuuibit 24x30/100 Mywitiwg/ H< hwn 18000 % 432
12
3141211 | Nlungh duuwbiy 30x40/100 ity +< hww | 32000 384
3141211 | Uiy dwuuyb 35x35/100 Mg/ < huwn 35000 12 20 |
A2 Milungbit dwiugwib 35x43/100 Mty < hwn | 38000 | | — 4
3141231 |Mlungli dwiuywbl 3543/100 YS- hudn G< hwin | 140000 0 840
3141212 | Mlunglih dungunbl 18247100 US-h huuduan 3< | hww | 100000 [ 200
3141211 |MHiungbl $hyuwd 305 Q< hwn 9000 12 108
3141211 |Bynipngpwbhugh duywybit < tinnup 65000 ’ 195
3141143 |UGwiph$hljwinnn < hww S 1o _ 60| | i
1141160 |Unlngly 260,0 < hwin 270 1000 - ?_/O___
141112 |Uujtmuuh Sud*5.50 Ynnpb hhapny hpunwibngby | < | huan 350 i 350
141121 [Yppwpniduljut R (dbwnwpu) N4,5.6 Q< hwtn 425 2000 850
141121 |dhpwpnidwiliut phiy (dhphyuutinny 0,12 < | hun 460 2poo 920
141121 |dhpwipnidwliul phy (wwpnt) 3,4,5,6 < | hwn 200 e 80
rias (;fFuéhl{wQLuU Ypwypdwu funnndwljubp /R2nuntip/ q¢ hutn 50 300 o
e g:éuquwu Yhpwlipduwi funnnywutn /2ntntpy 4 | s *z(;_“"_s'@ T ws [ |
141211 |Ubqqujwgduu uwpph hwdwp wnunppbiiin 4,5 4q ik LUt 26000 i /8
41183 |Lwgnquutnpwy gnun, 12,14 Q< hwun 80 30 4
41183 |Lwagnquuwinpwi gntn 18,20 < hwin 80 _._)_()_______4____ i
41183 | Lwgnquunpwi qnun, 6,7,8 A< hwn 80 30 4
41211 [8hUnphdnig inpdwinge < huwin 100 1000 4'- 100
91700 _|$hynph pninp < g 3500 6 21
Miwuwmp thnpdwlinp 1.5 L. Bwihwnhsng 1500
41211 _ |Eppendorf nnhuh S huwn IO 15
41211 |Unbphinty P 120C-130C Q< wnuh 80000 1 80 | | |
11211 XP-300 Swhshpnugp Q¢ hwun 800 6 4Ié_“_——
11211 [Mwlnunuyubplikp K2 EDTA < Awwn 6.000 [ 10 —_"EO
11144 |Uulintbp Juhnunugitkplbph hudwp a< hwn 5,000 10 50 | ||
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[33141141 Wwuuihl thnpdwnpibp FUU-b hunfuip G nnuh 13,000
133141211 Bnpwlug gpkiud1s-26 4< hwwn 2.500
33141211 |$njpp juanbunp bowenin Q< hwn 305
33141211 |Bnihh Guantanp liplydyniy < hwin 200
33141211 |Owypuljuy Uhhpnujhuyknp hunfwp 1000wy < hwn 4
33141211 [Owyjpurljuyg Uhpnughugbunp hunfwip 20011/ Qc hwn 3
33141211 [Mwlnunwyubp gkijnyp ac hwin 85
33141211 rJa,uLjanl,ufm:p Uwwph ghunpwinny Q< hwn _—SF__
33141211 |Mwhnunwutip Lj- hbwwphu Q< hwuwn 80
33181120 | Yhwijhgh quips’ hinnhwihquunp HIPS 16 < hwin 7150
33181120 Thunhqh qunps’ hhdm}hm]_qumnp HIPS 18 < huwn 7150
33181120 Fpuihgh quipy hlnnhwjhquinnp HIPS 21 ¥ hwin 6500
33181100 |Upjwh hnupughy < hwwn 2650
33141149 |Shunnywyhli wubybp 16G, & A< huwin 325
33141149 |Dhuwnnijughly wubnukp 16G, q < hwun 325
33141149 | Dhumnnijughis wulinitkp 176G, k < hwtn 325
33141149 | Shuwnyughty wulnlbp 17G, q < hwn 325
13141136 llhhmpnhm]{ulh bpullltujh'u, hplldjm_q uwmhmhp - 9< hwtn 12700
3691139 [2huluyghts fwnwlyniph puppphe < hun 2370 | 2400
13141211 [Bhyjuap npwhgh wiwpun i hwdwp < hwn 76000 >
13111490 |Upyuily wpinwhnuph wnghy Q< hwwn 85000
3141211 Iunnniuly nhuihqh wujupunh hunfwp 9 hwn 4750
3161190 Jwpnwssiwl wniluy < huwn 100000
3161190 |nyuh winpimp < hww 100000 1 100
3191480 |Ynbupwuwh bbpwpighs H< hwwn 4900000 el 4900 | |
3141174 Lwwwpwulnuhly qupdhplbph hunjwpwsn < hwin 4400000 1 4400
3121180 Udunntibpuljunidbng < hwn 4800000 1 4800
3121160 | Shnpuyhis juniy < huwn 4700000 1 4700
3121160 | Mkphuikup < hun | 4900000 1 4900
3121260 | ]wihh nynpwduith ubipfunpnswihi uhs < huwtn 4500000 Jqr 450(_)___ |
121260 | @wyht nibhybpuwy mjupmdnbught hwdwly] 9< hwwn 1 25000000 1 _____7579_03__
121310 |Rdoluljwi hqulmmlqhhpm{ Yhpwnyny wymly | UU huwn 9000 50 450
991160 |Pninp obplwgquymi vu uinih 7900 5 39.5
Fhlhuljw o wiuninpnohy tmptp 23354
531250 | Pdoljwljwit uwhpin 96% G< thwp 1200 250 300
631240 Pinphtipupnht 0.5% uyhpunuwhti - Q< hwn 1746 400 698.4 I,
631230 |Phwwinnht 10% 1 9< thinp 4000 00 | 400
31270 |Unwiwunw Yutiwg 1% 104, G< hwwn 150 100 15
311530 | Nliphpinpn 33% 1 9< lhup 600 100 60
311480 |Ywih whpdwugwwin 10g uu hwuwn 40 100 4
11600 _|Prpwppent 30q Ul hwiwn 25 100
}3126_0__ 3nnp ngbipnipd 5% 304, < hwn 260 200
91153 |Pwnhnuwh uny$wwn 100q 9< hwiwn 300 1000
21100 |<bdwwnnpuhjhu uu thinp 20000 I ]
21100 [Shwininghwluwy Ubiplwnye EA 50 uu thip 18000 1 1
21100 [Shuninghwlwy Ubipywjnye 0G6 uu (hup 18000 1
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24221100 |Shuininghwlwy Utiphutynip wnthuwnkpng uu thuip 70000 0.5 { 35
e ‘_'_‘__—"'—_"“—______—___——————_____________—_‘- — — —
Lhdnt ul 1
24321000 hun WpEYwht bwwphnw uu Ua 4000
24321440 _|Puwguiuwppnt vu Ug 2000 5
24321000 Unqﬂ:nuwmgh[wp[&m uu g 12000 J 3
it
24411200 qnunwlwl pent Uu Ua | _2_.000 3 |
U 0.IN10 f / /
[;"1321000 Nuppnt uu nni 7000 2 14
Ugnip- U Nndwt Shd uu 8000 3 24
!;?-1321{)00 qnip-tnghti MNindw njulynt Ghiqu thinp
i) 12.5
24321240 uhin] phihwiybu dwpnip uu thup 2500 5 i 5 B
Odu 350 -1 -
33691170 hujwy 350 004, Q< hww 18000
) U (bnpdwintihhn 40% |-r) 20-
npdwiht ($npdwintihhry 40% o) 20- 24 lg ac e 500
74321000 | nwpwlibipny
C -nbiwlnhy uwinwynigh npnodwl inbun 9¢
13211250 hwwpwént wnnuh 7000
rh© (C)ntigniu hwdwlwpgh wuwnhqbuh npnydwy ac 35
3211210 tntiuwn wnuh 3500 10|
rh© (D)nbigniu hwidwlwpgh wuwnhgblh npnadwt a¢ 36
3211220 wnkiuwn wnntth 2000 18
— .
Uquin [dhpopuptuh pwuwlwlwu npnpdwl inbumn 9¢ 162
3121270 hwwpwén wnuh 40500 4 '
! Uithbwihtiwnpwl ubbinwgp Whutunpy ¢ 30
3121270 Enwuwlyny npnadwl inbiuwn hwywpwdnt wnintth 3000 10
<
1121270 Udhjwgh npnpdwit nbun-hwwpwsn nnuh 12000
Ubopquliwlwu $rudnph npnodw nbuwn 9¢
3121270 hwwpwdnt wnnth 9400
Uunwpuwinwdhtiy nnpwludbinwgh Yhutitnpy qc
121270 Gnwbwyny npnadwl whun hwywpwént nntith 2300
OO T U UUp LT
Qn[nnhdbmnhq tnwuwyny npnodwl inbiun Q<
121270 hwywpwéne wnnith 5000
Upjw rh ntignw hwdwlwngh wlwnhqbuh qc
211210 npno2dwl wbuwn upy. 3000
Q<
211190 Unjwiu fudph (il) npnodwts nbun uny. 1200
Q<
11190 Upjwu fudph (1) npn2dwl inbuwn uny. 1200
<
11200 Upjwl pudph (1) npnodwy nbuwn uny. 1200
<
11200 Unjwl tudph (1) npnadwt inbun uny. 1200
Q<
11220 Upjwl fudph (IV) npnodwl nbiywn uny. 2000
11280 | Ppmgbyngh npnpduwil wbuun-huiuwpuwsne (RB50) | ¥ | winup | 15000
Sudd d u
» witw gynunwdhy inpw udbbipwgh npnodwl q¢ \ ) )
21270 wbiuin-hwdwpwdni50m| nnuh 8500 2 i
Q< . 150
1120 Hyniyngh npnodwly wnbiun-hwywpwdne 1 wninuh 5000 30
Q< _ 225
1180 Engihgliphnubph npn2dwl inkbuw hwlwpwént wnnth 4500 5
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=
Eplywreh npnadwl inbuwn hwywpwsny 2
Cunhwtnip b ninhn phihnniphtt b,
33211140 hwywpwsn,
Cunhwling uwhtnwlynigh npndwl  inbuwn
33211270 hwwpwdng 2 wnuh 4000 ‘ 2 i
Cunhwtnip Shnnpuhtuh Puliwliwlwl npnodwt qc¢
inbun hwwpwdn, wnnith 32000
Cunhwunip njiunbphuh npngdwl  inbun q¢
33211130 hwywpwdn nnih 6000
fGetwjhl Prubwinwgh npnadwl  nkuwn 9c
33121270 hwwpwdne 2 wnuh 15000
G<
33121270 (Bhdnjuwjhu Udnh npnpdwt ko wnnuh 4500
(Fhptinunpnuy hnpdnup Pwlwhwhwl  npnodwt 9¢
33121270 wbiun hwywpwsne wnnith 29000
l':}pndpmq[wumhhh nbiun hwlwpwsdnt THR - 9c¢
13211310 120 (6x4ml) wnnuh 11500
prmwmr}hhhr}nnqbbwqﬁ npnadw ibiun 9c 9
33121270 hwywpwdnt /hkinnuy/ nnith 4500 2 L
Lynunbhtwgung hnpdnth puwtiwlwlwl nnnadwly
3121270 nbun-hwywpuwdni ¥< nnuh 42000 2 ° |
'_‘_‘—"‘—"TUTwUTmTTEU]UTrm(:rTUmaT LTIy TSy S O e s e P
Uhwindwdp IgG hwqwdwndhbbbnh npnodwil ¢ 160 ‘f
3121270 wbiun hwywpuwdn ninith 40000 4
fujwdhnhwh hwpnighsh Uwindwdp 1g6 ac 160
3121270 hwhwdwndhhhhph npnadwi inbuwn hwywpudnt wnnuh 40000 4
funphnuhy Gnlwnnunpnwhup pwlwlwlwu 9¢
3121270 npnodwl inbuwmn hwywpwdn, 1 wnntih 47500
<
3211290 Hwihnwh  npnodwl ik hwywpwdnt 1 nnith 12000
4<
211300 “uwighnidh  npnodwt inbuwn hwywpwsnt 1 nntth 5000
q<
211160 4Uptiwnhuhtp npnadwl inbum hwywpwdn 1 wnnith 3000
“ptiwwnhlhling whwnhynipjut nnnadwi inbuwn Gc
211160 hwwipwén wnnith 12000
(Luhwumpbu.{mn[hqhb -0 npnodwy wnbuwn q¢
211260 huwwpwéng nnih / 6000
<Bwwinhin A yhnnwh Uquwndwdp IgM Q¢ 180
121250 thiwdwndhhhhph npnadwl wibuwnh hwywpwdnt nnuh 30000 6
Cbywinpin B Yhpniuh dwlbpbuwhy wlinhgbup 9c ’ 294
11320 npn2dwl inbuwnp hwiwpwént wnnuh 14000 21
F {bwwnpin C dhpniuh Uhwindwdp IgG Qc 120 |
21270 hwl{wdwpﬂh'uhbph npn2dwl nbuwnh hwywpwéni uinuh 40000 3 s NS l
<bwwinhin C dhpniuh Ujwundwdp IgG Q< 360
21250 ’htqudmndh’u‘uhph npngdwl inbuwinp hwwpuwdn, nnuh 18000 20
<hduwht Prubnuinwigh Yhutinpy Gnwliwlny ac 1
21270 npnadwl inbuwmn hwywpwdnt ninuh 3500 6 I
21270 Vwqubighnuih npnadwi wibuwn hwywpwéng 2 < nnuh 7500 6 45
Ubigh dbig qyniingh, wnjw, uwhuwlnigh, pH, 4\_*\__ I i
Ytwnnuutiph, inbuwlwnwp Uonh, upwnphintibipp,
(&4nghlubh, ninnphihtingtth U phpnniphun | < 30
1110 npnodwil inbuwnunphwutiph hwywpwsnt nnih 5000 | 6
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g
Uhquppyh npn2dwl inbuwn hwiwpwdn2 < wnntith

Uhqulynyah (Uhquitynieh wgnuih) npnadwt
nbuwn hwywpuwsdng

Q<
33211150

nuh

/ < }
Uhquityniph npnpduwili ki hy wpuidntl inntth
N_—___ -

33121270 Uhumqlwqdwjh npn2dwl wbun hwywpwdn, S wnnuh
q<
Cuwipwiph wlunnpnadw rbupunIphuy GlucoPlus hwn
Npnwlnhuh putiwuwijwu nnnadwl inbun ac
hwywpwdnt wnntith
Mpnunwn uwtighphy hwlwqbuh pwlwlwywy Gc
33211330 | npnadwls inbuwn hwywpuwsn wni
ﬂhLiqunhqui'nb dwluinpubipp npnadwl inbuwn ac
33211240 hwywpwsng nnuh
33211230 Uh$ihuh npnodwts inbruen hwywpwén, e innih
Stunnuwnbipntp puliwlwlwl npnpdwl nbun ac
33121270 hwwpuwén wninth
Snpunujjwqungh hwnnighsh Ujwndwdp 1gG 9¢
33121270 hwywdwpdhulbph npndwl nbuin hwdwpuwsn: | Wwnuh
Sngunuqudnqh hwpnighsh Ulwindundp Igv ac
13121270 huwlywdwnpdhulibph npn2dwt nbun hwwpuwsn, nnuh
Snmnnmhpn'uh'uh pwtwlwlwu npn2dwl inbuwn 9¢ 64
3121270 hwywpwént 2 wnnuh 32000 2
SNNNOGqWAYRRAN UqUtUmWup 186
hwqwdwndhhbhnh pwiwywlwi npnadwl tinbuwn qc 45
3121270 | hwiwpuwsn wnuh | 45000 L sl | o
BInphnutiph unbgbhmpmghwjh nnnadwl nbiuwn 9¢ ’
3121270 hwjwpwén: nnith 8500
52111304-9nlbumbnhbh HDL uuwnwgunn nbwqblin < wnnh 4000
3211130 Pniunbiphup LDL Uuwnwgling nbiwgbln < nnuh 8000
Dnibyny fupwlnn hnpdntp pwliwlwluwy 9¢
1121270 [npnouwl inbuwn hwywpwdni innith 44000
[Fhpngnpnyhup Uywindwdp hwumdwpdhmbnh 9¢
121270 |npngnud | huwin 56000
121270 |Uqnujhpuwd nbwljapyg < hwtn 2500
121270 [puthnhw wiinhqhtp npnpdwh hunjupusng < huwtn 23000
BpmglinuuynPtun 30 phuw/ Brucelloslide-Test /30 9¢ hwun
121270 |test/ 15000
[_]L]lf_ﬂ.Li-U.pqllmlh Lhn 2 mpthw[]/Ureanarginim:.
121271 |LYO-2 broth I
91139 | @pyuwyhts Junuiymp 10; < hwwn 5310
91139 |Yhwuipntwppip Junwibynp 50% 1*10; QC hwn 14000
bppphtngblth npndwh nbywn- hwywpwéniStart 4 Q<
21270 |FIBRINOGEN-PREST 480 tests (Stago) . hwn 139,000/

Ubnwwuwha ¢| Minu,  buwn- hwiwpwéntStart
4 Neoplastin C| plus QC

21270 |5, 300 tests (Stago) hwn

NSSU wijinntwin npnyiwg hwywpwéniStart 4 <
21270 |PTT a 1200 tests (Stago) hwwn

28,190
— 7

130290
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BpndphG dwdwbwl nbun- hwywpwon.Start 4 qc 192.45
33211310 |STA Thrombin 240 Tests (Stago) hwwn 38490 5
Uni Calibrator 6x1m| Q¢ 60
33121270 [(Stago)Start 4 whwihquitnnph hwiwnp hwitn 60000 1
Unlnpny htinniy, 2 dwlupnuly, 12x2x | Uy Coag 9¢ ] 18.9 ]
33121270 (Control Start 4 wliwhqunnpp huwnfwp hwin 118900 | 1
33121270 |Uwppnny (LN p i tnnuth 12000 2 3
33121270 |Qwithhy [nLémyp ok ninuh 89000 2 e
_ Q< 81
33121270 |bUkwpn L Elkljnpnghun uunighy hwwn 81000 1 ‘{
] Mt$bink - ) 2
33121270 Eililinpnn Na$bntuy Q< hww (121000 2 42
2 294
33121270 Eiywnpnn bwwnphnig < hww 147000
17100 2 A2
53121270 t[qupnq q< hwwn 71 0 i B i_
b Q< h 92000 2 184
33121270 [M1PUANNT Uuwihnu e Y
b d 874 h 93000 2 186
33121270 o, Hughnt e el
13121270 Lwuwnphnudh Flelywnpnnh Ynunhghnubip 1254) q< hwwn  [16000 2 32
2.03
33121270 |STA CaCL2 ,24x15 up,Start 4 wliwhquunnph hwdwp 94 hwuwn 42030 1 1 0
STA OWREN KOLLER, 24x15 0p:Start 4 Q¢ 47.15
3121270 |wiliwihqunanph huswp hwn 47150 ] )
Qc 2M.9
3121270 [FINNTIPS 2,50ML (X100) Start 4 wliwhqunnph hwidwp hwn 241900 1
3121270 |Flacon 1850 balls Start 4 whiwhqunnph hwidwp K hwwn 75850 2 151.7
3121270 |Barrettes cuveties 1504 Start 4 wliwhquim aph hwdwp e hwin 73000__ 4 | _392_' i
cobas ¢111 Fhihnnpht mgnulh ac 70 —‘
3121270 [Nnn2Gwl phiup hwwpusn huitn 35000 2
cobas ¢111 Bhihnnipht 9< 99.6
3121270 [puphwbinip npnodw( pliup hujwpwsny hwwn 33200 3 '
cobas c111 funjkunbphih ac 891
211130 [npoouwh wibun hunjwpwdny hwwn 29700 3 '
cobas ¢111 Sphqihgtphn 9c¢ 2
211180  [npnodwil whun hwjwpwont hwwn 20000 1 B
cobas c111 HDL npnouwt
- 4< 48.4
121270 Juikun hujwpwbn hwin 48400 1
cobas c111 LDL npnpuurh 9c 63
211130 [|wnkuwn huijwpudng hwun 63000 1 R
Cobas ¢111 Ypkwinhuph qc 140
211160  (npn2dwl phup hunjwipudn hwwn 28000 5
cobas c111 Gynijnqu q o 1 _OO T
11120 [npnzdwh fliup hunwpwdne = hwtn 20000 5 1
cobas ¢111 Uhquiynip ] N
: Q< ) 86
121270 [npnzdwl phup hunfwpuidn hwn 21500 4
cobas ¢111 Ujwaha 9¢ .
121270 wdhﬁnmnwﬂufbbanmh npN2dwhpbuun- hwn 20350 2 40.
cobas ¢111 quuitw- a¢ 154
121270 |qnunwd]y Wpwhudkpuqu npnydwd pGUp hwn l 15400 e Il o
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o Cobas ¢111 HbA1¢
33121270 |hnn2iwl phup huwpwsny = hwwn | 135400 1
Cobas ¢111 Uphwnht
33121270 |Yhluqu npntw phup hunwpwsm s hwin 36780 1
cobas ¢111 LE2 npnpdwG pbup
33121270 |hwiwpwdn ¥< hwn 23100 | 1
cobas ¢111 4T
33121270 [$pnudunn wqu hnn2Awl phup hunjwpwdny S hwn 17000 2
] cobas ¢c111 Uuwwpunwn
33121270 |wdhOnunpwiudbnwguh nnn2dwlpbutn- = huwin 20900 3
cobas c111 Unlhpuiqu
33121270 |plinhwhnign npnaswit phup hunjupudm < hwn 50050 2
’\ cobas ¢111 Uppnudhis ac
33121270 phnhwibnip npnydwg phup hwwpwsn hwu 26000 1
cobas ¢111 Cughwtmp 9¢
33121270 |uyhuulnigh npnpiwt phup hunupwidm hwin 25000 2
cobas ¢111 CRP
33121270 |pwbiwlwlwh npnzdwd phup hunjwpwdnt ¥ hwn 100000 2
cobas ¢111 CFAS
53121270 |HWIhppwng’ phophuhulwh wliwihqubph haup | < hwn 40650 1
cobas ¢111 CFAS HbA1c
3121270 |WARpnUAINY phnpludprauts whhqubph bt | %€ |, 90730 | 1 203
cobas ¢111 CFAS protein
3121270 |Ywthpruinnn’ phophuhulyat winughqitpp hwdup | ¥ huw | 130000 1 9 |
cobas ¢111 CFAS Lipid !
3121270 |Ywihppwinnp phophthwlwt winhqubph hwdwn RS hwwn 20710 1 20.71
cobas c111 Yntunpng iht sku qc 177 34
3121270 [unijunp 1 hwn 177340 1
cobas ¢111 Yntunpng jhte Gc 177 34
3121270 [skU Unijinh 2 hwn 177340 1
3121270 cobas ¢111 Cleaner q< huwtn 18000 4 ______ZQ__ -
Lijwgnn hliqoily by pt plinyph Ynpuwn 1111 9¢ 93 65
$121270 Jwilwihquwnnph hwdwp hwin 23650 1
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